Easter Division

Solve the following word problems.

The Easter Bunny has 345 chocolate eggs to
distribute evenly among 15 baskets. How many
eggs will each basket contain?

A candy factory produced 450 Easter candies.
They want to package them in boxes of 25. How
many boxes will they need?

An Easter egg hunt has 500 hidden eggs. If each
child can find 25 eggs, how many children can
participate in the hunt?

A church is preparing 365 Easter baskets. If each
volunteer can prepare 15 baskets, how many
volunteers are needed?

A bakery made 789 Easter cookies. If they want to
package them in boxes of 18, how many boxes will
they need?

A farm has 545 Easter chicks. If they want to
distribute them evenly among 45 farms, how many
chicks will each farm receive?

A candy store sold 675 chocolate bunnies for
Easter. If each customer bought 25 bunnies, how
many customers bought chocolate bunnies?

A school is organizing an Easter event with 260
students. If they want to divide the students into
groups of 20 for the egg hunt, how many groups
will there be?
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